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HCF and LCM

1 .    Three number are in the ratio of 3 : 4 : 5 and

their L.C.M. is 2400. Their H.C.F. is:

rhu la[;k,¡ 3 % 4 % 5 ds vuqikr esa gSa vkSj mudk y?kqÙke

lekioR;Z gSA 2400 gSA mudk e-l- gS%

(a) 40 (b) 80

(c) 120 (d) 200

2. If the sum of two numbers is 55 and the H.C.F.

and L.C.M. of these numbers are 5 and 120

respectively, then the sum of the reciprocals

of the numbers is equal to:

;fn nks la[;kvksa dk ;ksx 55 gS vkSj e-l-i vkSj y-l-i-

dk ;ksx Øe'k% 5 vkSj 120 gS] rks la[;kvksa ds O;qRØeksa dk

;ksx cjkcj gS%

(a)
55

601
(b)

601

55

(c)
11

120
(d)

120

11

3. A rectangular courtyard 3.78 meters long 5.25

meters wide is to be paved exactly with square

tiles, all of the same size. what is the largest

size of the tile which could be used for the

purpose?

3-78 ehVj yacs 5-25 ehVj pkSM+s ,d vk;rkdkj vkaxu dks
fcYdqy leku vkdkj dh oxkZdkj Vkbyksa ls iDdk fd;k
tkuk gSA Vkby dk lcls cM+k vkdkj D;k gS ftldk
mi;ksx bl mís'; ds fy, fd;k tk ldrk gS\
(a) 14 cms (b) 21 cms

(c) 42 cms (d) None of these

4. product of two numbers is 2028 and their H.C.F.

is 13. The number of such pairs is:

nks la[;kvksa dk xq.kuiQy 2028 gS vkSj mudk H.C.F.13
gSA ,sls ;qXeksa dh la[;k gS%
(a) 1 (b) 2

(c) 3 (d) 4

5. The L.C.M of two numbers is 495 and their

H.C.F is 5. If the sum of the numbers is 100,

then their difference is

nks la[;kvksa dk y?kqÙke lekioR;Z 495 gS vkSj mudk e-l-

i- 5 gSA ;fn la[;kvksa dk ;ksx 100 gS] rks mudk varj gS
(a) 10 (b) 46

(c) 70 (d) 90

HCF and LCM/e-l-i- vkSj y-l-i-
( Practice Sheet With Solution)

6. The largest number which on dividing 1657

and 2037 leaves remainders 6 and 5

respectively, is:

og cM+h ls cM+h la[;k gS ftlls 1657 vkSj 2037 dks Hkkx

nsus ij Øe'k% 6 vkSj 5 'ks"k cprk gS] og gS%

(a) 123 (b) 127

(c) 235 (d) 305

7. The G.C.D of 1.08, 0.36 and 0.9 is

1-08] 0-36 vkSj 0-9 dk G.C.D gS

(a) 0.03 (b) 0.9

(c) 0.18 (d) 0.108

8. L.C.M of two prime numbers x and y (x > y) is

161. The value of 3y – x is :

nks vHkkT; la[;kvksa x vkSj y (x > y) dk y?kqÙke

lekioR;Z 161 gSA 3y – x dk eku gS%

(a) –2 (b) –1

(c) 1 (d) 2

9. The sum of two numbers is 528 and their H.C.F

is 33. The number of pairs of numbers are

possible :

nks la[;kvksa dk ;ksx 528 gS vkSj mudk e-l-i- 33 gSA

la[;kvksa ds ;qXeksa dh la[;k laHko gS%

(a) 4 (b) 6

(c) 8 (d) 12

10. The H.C.F and L.C.M of two numbers are 11

and 385 respectively. If one number lies

between 75 and 125 , then that number is

nks la[;kvksa dk e-l-i vkSj y-l-i- Øe'k% 11 vkSj 385
gSA ;fn ,d la[;k 75 vkSj 125 ds chp vkrh gS] rks og
la[;k gS

(a) 77 (b) 90

(c) 100 (d) 105

11. The difference of two numbers is 14. Their
LCM and HCF are 441 and 7. Find the two
numbers ?

nks la[;kvksa dk varj 14 gSA mudk y?kqÙke lekioR;Z vkSj
e-l-i- 441 vkSj 7 gSA nks la[;k,¡ Kkr dhft,\

(a) 63 and 49 (b) 65 and 48

(c) 64 and 50 (d) 64 and 49
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HCF and LCM

12. H.C.F of 4 × 27 × 3125,  8 × 9 × 25 × 7  and

16 × 81 × 5 × 11 × 49 is

4 × 27 × 3125,  8 × 9 × 25 × 7  vkSj 16 × 81 × 5

× 11 × 49  dk e-l-i- gS

(a) 180 (b) 270

(c) 540 (d) 810

13. The least number which when divided by 5,

6, 7 and 8 leaves a remainder 3, but when

divided by 9 leaves no remainder, is:

og NksVh ls NksVh la[;k gS ftls 5] 6] 7 vkSj 8 ls

foHkkftr djus ij 'ks"kiQy 3 vkrk gS] ysfdu tc 9 ls

foHkkftr djus ij dksbZ 'ks"k ugha cprk gS] og gS%

(a) 1677 (b) 1683

(c) 2521 (d) 3362

14. The maximum number of students  among them

1001 pens and 910 pencils can be distributed

in such a way that each student gets the same

number of pens and same number of pencils is:

Nk=kksa dh vf/dre la[;k D;k gS ftues 1001 isu vkSj

910 isafly bl çdkj ckaVs tk ldrs gSa fd çR;sd Nk=k dks

leku la[;k esa isu vkSj leku la[;k esa isaflysa çkIr gksa%

(a) 91 (b) 910

(c) 1001 (d) 331

15. Six bells commence ringing together and ring

at intervals of 2, 4, 6, 8 10 and 12 seconds

respectively. In 30 minutes, how many times

do they ring together ?

Ng ?kafV;k¡ ,d lkFk ctuk 'kq: djrh gSa vkSj Øe'k% 2]

4] 6] 8 10 vkSj 12 lsdaM ds varjky ij ctrh gSaA 30

feuV esa os ,d lkFk fdruh ckj ctrh gSa\

(a) 4 (b) 10

(c) 15 (d) 16

16. A room is 6 meters 24 centimeters in length

and 4 meters 32 centimeters in Width. Find

the least number of square tiles of equal size

required to cover the entire floor of the room.

,d dejs dh yackbZ 6 ehVj 24 lsaVhehVj vkSj pkSM+kbZ 4

ehVj 32 lsaVhehVj gSA dejs ds iwjs iQ'kZ dks <dus ds fy,

vko';d leku vkdkj dh de ls de oxkZdkj Vkbyksa dh

la[;k Kkr dhft,A

(a) 104 (b) 117

(c) 130 (d) 137

17. If the GCD of 210 and 55 is represent in the

form of 210 × 5 + 55P, then value of P = ?

;fn 210 vkSj 55 dk GCD 210 × 5 $ 55P ds :i esa

fu:fir fd;k tkrk gS] rks P dk eku ¾ \

(a) –23 (b) 27

(c) 16 (d) –19

18. Find the HCF of
1 3 5 7 9

, , , ,
2 4 6 8 10

1 3 5 7 9
, , , ,

2 4 6 8 10
 dk e-l-i Kkr djksa

(a)
1

120
(b)

1

7

(c)
1

32
(d)

1

40
19. If the least common multiple of two numbers,

1728 and k is 5184. Then how many values

of k are possible.

;fn nks la[;kvksa] 1728 vkSj k dk y?kqÙke lekiorZd

5184 gSA rks k ds fdrus eku laHko gSaA
(a) 11 (b) 8

(c) 7 (d) 6

20. The LCM and HCF of 2 numbers are 168 and

6 respectively. If one of the numbers is 24,

find the other.

nks la[;kvksa dk y-l-i- vkSj e-l-i Øe'k% 168 vkSj 6 gSA

;fn ,d la[;k 24 gS] rks nwljh la[;k Kkr dhft,A
(a) 46 (b) 44

(c) 40 (d) 42

21. Find the LCM of the following fractions:

fuEufyf•r fHkUuksa dk y?kqÙke lekioR;Z Kkr dhft,%

2 8 16 32
, , ,

3 9 27 81

(a)
32

81
(b)

32

9

(c)
32

3
(d)

32

7

22. Find the LCM of 35, 311, 3–11 and 314, 35, 311, 3–

11 and 314

35] 311] 3&11 vkSj 314] 35] 311] 3&11 vkSj 314 dk y?kqÙke

lekioR;Z Kkr dhft,A
(a) 35 (b) 311

(c) 3– 11 (d) 314

23. The minimum value of LCM of given numbers

is ........... the product of all the given numbers.

nh xbZ la[;kvksa dk y?kqÙke lekioR;Z dk U;wure eku ---

-------- lHkh nh xbZ la[;kvksa dk xq.kuiQy gSA

(a) always greater than/ges'kk ls vf/d

(b) always less than/ges'kk ls de

(c) always equal to/ges'kk ds cjkcj

(d) None/dksbZ ugha



M
at

hs
 b
y

A
di

ty
a 

R
an

ja
n 

si
r

Join Telegram- Maths by  Aditya Ranjan

Aditya Ranjan (Excise Inspector) Selected gS Selection fnyk,axs   3

HCF and LCM

24. Consider a two-digit number. The difference

between the number and the number we get

when its digits are reversed is 27. If the sum

of the digits in the given number is 9, find

the HCF of the number and the number when

its digits are reversed.

nks vadksa dh ,d la[;k ij fopkj dhft,A la[;k vkSj

mlds vadksa dks iyVus ds ckn izkIr la[;k dk varj 27 gSA

;fn nh xbZ la[;k esa vadksa dk ;ksx 9 gS] rks la[;k dk e-

l-i vkSj mlds vadksa dks myVus ij la[;k Kkr dhft,A
(a) 6 (b) 4

(c) 9 (d) 5

25. Find the LCM of 
2 3 4

, ,
5 10 15

2 3 4
, ,

5 10 15
 dk y-l-i Kkr djksaA

(a)
6

5
(b)

12

5

(c)
7

10
(d)

4

15

26. Three numbers which are co-prime to each other

are such that the product of the first two

numbers is 551 and that of the last two numbers

is 1073. The sum of the three numbers is:

rhu la[;k,¡ tks ,d&nwljs dh lg&vHkkT; gSa] bl izdkj gSa

fd igyh nks la[;kvksa dk xq.kuiQy 551 gS vkSj vafre nks

la[;kvksa dk xq.kuiQy 1073 gSA rhu la[;kvksa dk ;ksx gS%
(a) 72 (b) 87

(c) 85 (d) 89

27. How many pairs of positive integers x,y exist

such that HCF of x,y = 35 and sum of x and y

= 1085?

ldkjkRed iw.kkZad x, y ds fdrus tksM+s ekStwn gSa tSls fd

x, y dk HCF ¾ 35 vkSj x vkSj y dk ;ksx ¾ 1085\
(a) 15 (b) 8

(c) 12 (d) 30

28. A red-light flashes three times per minute and

a green light flashes five times in 2 minute at

regular intervals. If both lights start flashing

at the same time, how many times do they

flash together in each hour?

,d yky cÙkh çfr feuV rhu ckj pedrh gS vkSj ,d gjh

cÙkh fu;fer varjky ij 2 feuV esa ikap ckj pedrh gSA

;fn nksuksa ykbVsa ,d gh le; ij pedus yxrh gSa] rks os

çR;sd ?kaVs esa fdruh ckj ,d lkFk pedrh gSa\

(a) 30 (b) 24

(c) 20 (d) 35

29. Find the largest number with which when

555,1275 and1635 are divided, the remainders

are same.

og cM+h ls cM+h la[;k Kkr dhft, ftlls 555] 1275

vkSj 1635 dks Hkkx nsus ij 'ks"kiQy leku gksA
(a) 365 (b) 360

(c) 401 (d) 405

30. An officer was appointed on maximum daily

wages on contract money of Rs. 4956.but on

being absent for some days , he was paid only

Rs. 3894. For how many days was he absent?

,d vf/dkjh dks vf/dre nSfud etnwjh ij 4956 #i;s ds

vuqca/ ds iSls ij fu;qÙkQ fd;k x;k FkkA ysfdu dqN fnuksa ds

fy, vuqifLFkr jgus ij mUgsa dsoy 3894 #i;s dk Hkqxrku

fd;k x;k FkkA og fdrus fnu vuqifLFkr jgk\
(a) 3 (b) 2

(c) 4 (d) 5

31. A merchant has three different types of milk:

435 liters, 493 liters and 551 liters. Find the

least no. of casks of equal size required to

store all the milk without mixing.

,d O;kikjh ds ikl rhu vyx&vyx çdkj ds nw/ gSa%

435 yhVj] 493 yhVj vkSj 551 yhVjA ihiksa dh de ls

de la[;k Kkr dhft, ftlls iwjs nw/ dks fcuk feyk,

j•us ds fy, vko';d leku vkdkj ds ihiksa dh la[;kA
(a) 45 (b) 61

(c) 47 (d) 51

32. The LCM of the two numbers is 24 times their

HCF. The sum of their LCM and HCF is 400.

When one of the two numbers is divided by 6,

the quotient is 7 and the remainder is 6. The sum

of digits of the sum of two given numbers is :

nks la[;kvksa dk y?kqÙke lekioR;Z muds e-l-i- dk 24
xquk gSA muds LCM vkSj HCF dk ;ksx 400 gSA tc nks
la[;kvksa esa ls ,d dks 6 ls foHkkftr fd;k tkrk gS] rks
HkkxiQy 7 gksrk gS vkSj 'ks"k 6 gksrk gSA nh xbZ nks la[;kvksa
ds ;ksx ds vadksa dk ;ksx gS%

CRPF HCM 24/02/2023 (Shift - 01)

(a) 12 (b) 15

(c) 13 (d) 14

33. Find the difference between the LCM and HCF

of 
4 5

,
7 14

 and 
9

35
.

4 5
,

7 14
 vkSj 

9

35
 ds LCM vkSj HCF ds chp dk varj

Kkr dhft,A

CRPF HCM 26/02/2023 (Shift - 02)

(a) 19.5 (b) 20.7

(c) 22.3 (d) 25.7



M
at

hs
 b
y

A
di

ty
a 

R
an

ja
n 

si
r

Join Telegram- Maths by  Aditya Ranjan

Aditya Ranjan (Excise Inspector) Selected gS Selection fnyk,axs   4

HCF and LCM

34. Four ropes of lengths 102m, 119m, 153m and

204 m are to be cut into parts of equal length.

Each part must be long as possible. What is

the maximum number of pieces that can be

cut?

102 ehVj] 119 ehVj] 153 ehVj vkSj 204 ehVj yach
pkj jfLl;ksa dks leku yackbZ ds Hkkxksa esa dkVk tkuk gSA
çR;sd Hkkx ;FkklaHko yack gksuk pkfg,A dkVs tk ldus
okys VqdM+ksa dh vf/dre la[;k D;k gS\

CRPF HCM 27/02/2023 (Shift - 01)

(a) 42 (b) 36

(c) 252 (d) 34

35. Four people, A, B, C and D, start running

around a circular track of length 6 km. Their

speeds are 3 kmh, 3.5 km/h, 4 km/h and 4.5

km/h, respectively. If all start running from

the same point at the same time in the same

direction, when they meet for the first time

at the starting point, how many rounds would

have B made?

pkj O;fÙkQ] A, B, C vkSj D] 6 fdeh yacs ,d o`Ùkkdkj
VªSd ds pkjksa vksj nkSM+uk 'kq: djrs gSaA mudh xfr Øe'k%
3 fdeh@?kaVk] 3-5 fdeh@?kaVk] 4 fdeh@?kaVk vkSj 4-5
fdeh@?kaVk gSA ;fn lHkh ,d gh fcanq ls ,d gh le; esa
,d gh fn'kk esa nkSM+uk 'kq: djrs gSa] tc os igyh ckj
'kq#vkrh fcanq ij feyrs gSa] rks B us fdrus pDdj yxk,
gksaxs\

CRPF HCM 01/03/2023 (Shift - 01)

(a) 7 (b) 9

(c) 4 (d) 12

36. A gardener had some plants for planting. He

tried planting them in rows of 7, 8, 9 and 12.

But he always had one plant left. When he

tried to plant 11 in a row, he had none left.

Find the minimum number of plants with the

gardener.

,d ekyh ds ikl yxkus ds fy, dqN ikS/s FksA mlus mUgsa
7] 8] 9 vkSj 12 dh iafÙkQ;ksa esa yxkus dh dksf'k'k dhA
ysfdu mlds ikl ges'kk ,d ikS/k cpk jgrk FkkA tc
mlus yxkrkj 11 ikS/s yxkus dh dksf'k'k dh] rks mlds
ikl ,d Hkh ugha cpkA ekyh ds ikl ikS/ksa dh U;wure
la[;k Kkr dhft,A

CRPF HCM 11/03/2023 (Shift - 01)

(a) 4631 (b) 1804

(c) 506 (d) 3025

37. The LCM of the two numbers is 12 times their
HCF. If the sum of LCM and HCF is 169 and
the sum of the numbers is 104, find the
difference between the numbers.

nks la[;kvksa dk y?kqÙke lekioR;Z muds e-l-i- dk 12
xquk gSA ;fn LCM vkSj HCF dk ;ksx 169 gS vkSj la[;kvksa
dk ;ksx 104 gS] rks la[;kvksa ds chp dk varj Kkr dhft,A

CRPF HCM 11/03/2023 (Shift - 02)

(a) 52 (b) 58

(c) 72 (d) 66

38. Find the smallest number that leaves a
remainder of 4 on division by 5, 5 on division
by 6, 6 on division by 7, 7 on division by 8
and 8 on division by 9?

og NksVh ls NksVh la[;k Kkr dhft, ftls 5 ls Hkkx nsus
ij 4 'ks"k cprk gS 6 Hkkx nsus ij 5 'ks"k cprk gS 7 ls
Hkkx nsus ij 6 'ks"k cprk gS 8 ls Hkkx nsus ij 7 'ks"k
cprk gS vkSj 9 ls Hkkx nsus ij 8 'ks"k cprk gS%
(a) 2519 (b) 5039

(c) 1079 (d) 979

39. 6 different sweet varieties of count 32, 216,
136, 88, 184, 120 were ordered for a particular
occasion. They need to be packed in such a
way that each box has the same variety of
sweet and the number of sweets in each box
is also the same. What is the minimum
number of boxes required to pack?

fxurh 32] 216] 136] 88] 184] 120 dh 6 vyx&vyx
feBkbZ dh fdLeksa dks ,d fo'ks"k volj ds fy, vkWMZj
fd;k x;k FkkA mUgsa bl rjg ls iSd djus dh vko';drk
gS fd çR;sd fMCcs esa feBkbZ dh ,d gh fdLe gks vkSj
çR;sd fMCcs esa feBkb;ksa dh la[;k Hkh leku gksA iSd djus
ds fy, de ls de fdrus cDlksa dh vko';drk gS\
(a) 129 (b) 64

(c) 48 (d) 97

40. LCM of 2 natural numbers p and q where p >
q is 935. What is the maximum possible sum
of the digits of q?

2 çkÑr la[;kvksa p vkSj q dk y?kqÙke lekioR;Z tgk¡ p >
q, 935 gSA q ds vadksa dk vf/dre laHko ;ksx D;k gS\
(a) 1 (b) 16

(c) 8 (d) 2

41. The HCF of two numbers is 12. Which one
of the following can never be their LCM?

nks la[;kvksa dk egÙke lekiorZd (HCF) 12 gSA fuEufyf[kr
esa ls dkSu&lk mudk y?kqÙke lekioR;Z (LCM) dHkh ugha
gks ldrk gS\

SSC CGL 01/12/2022 (Shift- 01)

(a) 72 (b) 60

(c) 90 (d) 84
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42. What is the ratio between the HCF and LCM
of the numbers whose LCM is 48 and the
product of the numbers is 384?

mu la[;kvksa ds egÙke lekiorZd (HCF) vkSj y?kqÙke
lekioR;Z (LCM) ds chp dk vuqikr D;k gS ftudk
y?kqÙke lekioR;Z (LCM) 48 gS vkSj la[;kvksa dk xq.kuiQy
384 gS\

SSC CGL 01/12/2022 (Shift- 02)

(a) 1 : 4 (b) 1 : 6

(c) 1 : 3 (d) 2 : 5

43. Two numbers are in the ratio of 6 : 5. If their
HCF is 3, then what is the LCM of the two
numbers?

nks la[;k,¡ 6 % 5 ds vuqikr esa gSA ;fn mudk egÙke
lekiorZd (HCF) 3 gS] rks nksuks a la[;kvksa dk y?kqÙke
lekiorZd (LCM) fdruk gksxk\

SSC CGL 01/12/2022 (Shift- 03)

(a) 64 (b) 110

(c) 90 (d) 80

44. The ratio of two numbers is 5 : 4 and their
HCF is 4. What is their LCM?

nks la[;kvksa dk vuqikr 5%4 gS vkSj mudk egÙke lekiorZd
(HCF) 4 gS mudk y?kqÙke lekioR;Z (LCM) D;k gS\

SSC CGL 01/12/2022 (Shift- 04)

(a) 80 (b) 48

(c) 36 (d) 60

45. What is the largest common divisor of the
numbers 1026, 2268 and 2430?

la[;k 1026] 2268 vkSj 2430 dk egÙke lekiorZd (

largest common divisor) D;k gS\

SSC CGL 02/12/2022 (Shift- 01)

(a) 108 (b) 54

(c) 81 (d) 27

46. The HCF of two numbers 2040 and 391 is:

nks la[;kvksa 2040 vksj 391 dk egÙke lekiorZd (HCF)

D;k gS\

SSC CGL 02/12/2022 (Shift- 03)

(a) 17 (b) 21

(c) 16 (d) 18

47. Three numbers are in the ratio of 2 : 3 : 5
and their LCM is 90. Find their HCF.

rhu la[;k,¡ 2%3%5 ds vuqikr esa gSa vkSj mudk y?kqre
lekioR;Z (LCM) 90 gSA mudk egÙke lekiorZd (HCF)

Kkr dhft,A

SSC CGL 02/12/2022 (Shift- 04)

(a) 9 (b) 1

(c) 6 (d) 3

48. Claculate the HCF of 
12 14

,
5 15

 and 
16

.
17

12 14
,

5 15
 vkSj 

16

17
 ds egÙke lekiorZd (HCF) dh x.kuk

djsaA

SSC CGL 03/12/2022 (Shift-s 01)

(a)
4

255
(b)

3

255

(c)
2

225
(d)

1

255

49. What is the HCF of 36 and 198?

36 vkSj 198 dk egÙke lekiorZd (HCF) Kkr djsaA

SSC CGL 03/12/2022 (Shift- 02)

(a) 36 (b) 22

(c) 18 (d) 9

50. The LCM of two numbers is 120 and the

numbers are in the ratio 3 : 8. The sum of

the numbers will be:

nks la[;kvksa dk y?kqÙke lekiorZd (LCM) 120 gS vkSj
la[;k,¡ 3 :  8 d vuqikr esa gSA la;kvksa dk ;ksx Kkr
djsaA

SSC CGL 03/12/2022 (Shift- 03)

(a) 48 (b) 55

(c) 45 (d) 60

51. The HCF of two numbers 110 and 1980 is:

nks la[;kvksa 110 vkSj 1980 dk egÙke lekiorZd (HCF)

D;k gS\

SSC CGL 05/12/2022 (Shift- 01)

(a) 140 (b) 110

(c) 120 (d) 180

52. The LCM of the two numbers is 4104 and the

HCF is 9. If one of the numbers is 171, find

the other.

nks la[;kvksa dk y-l-i (LCM) 4104 vkSj e-l-i (HCF)

9 gS ;fn la[;kvksa esa ls ,d la[;k 171 gS] rks nwljh
la[;k Kkr dhft,A

SSC CGL 05/12/2022 (Shift- 04)

(a) 218 (b) 215

(c) 220 (d) 216
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HCF and LCM

53. Choose the correct statement from the

following.

fuEufyf•r esa ls lgh dFku dk p;u dhft,A

SSC CGL 06/12/2022 (Shift- 02)

(a) HCF is the least common multiple of the

given numbers.

,plh,iQ nh xbZ la[;kvksa dk lcls NksVk lkekU;
xq.kd gSA

(b) HCF of two or more numbers is the highest

number which perfectly divides all the

given numbers.

nks ;k nks ls vf/d la[;kvksa dk e-l-i og mPpre
la[;k gS tks nh xbZ lHkh la[;kvksa dks iw.kZr% foHkkftr
djrh gSA

(c) HCF is also called the least common divisor.

HCF dks y?kqre lekiorZd Hkh dgk tkrk gSA

(d) In prime factorisation method of HCF, the

multiples of all the given numbers are

listed.

e-l-i- dh vHkkT; xq.ku•aMu fof/ esa] lHkh nh xbZ
la[;kvksa ds xq.kt lwphc¼ gksrs gSaA

54. The sum of two numbers is 18 and their HCF

and LCM are 3 and 54 respectively. What will

be the sum of their reciprocals?

nks la[;kvksa dk ;ksx 18 gS vkSj mudk egÙke lekiorZd
(HCF) vkSj y?kqÙke lekioR;Z (LCM) Øe'k% 3 vkSj
54 gSA muds O;qRØeksa dk ;ksx D;k gksxk\

SSC CGL 06/12/2022 (Shift- 04)

(a)
1

7
(b)

1

11

(c)
1

6
(d)

1

9

55. What is the LCM of (8x³ + 80x2 + 200x) and

(4x4+16x³ – 20x²)?

(8x³ + 80x² + 200x) vkSj (4x4 + 16x³ – 20x²) dk
y?kqÙke lekioR;Z (LCM) D;k gS\

SSC CGL 07/12/2022 (Shift 01)

(a) 8x2 (x+5)2 (x–1) (b) 8x2 (x–1)2 (x+5)

(c) 4x2 (x–1)2 (x+5) (d) 4x2 (x+5)2 (x–1)

56. Find the LCM of 186.6 and 373.2.

186-6 vkSj 373-2 dk y?kqÙke lekioR;Z (LCM) Kkr
djsaA

SSC CGL 07/12/2022 (Shift- 03)

(a) 373.2 (b) 398.2

(c) 186.6 (d) 276.6

57. If the HCF of two numbers is 8, then which
of the following can NEVER be their LCM?

;fn nks la[;kvksa dk egÙke lekiorZd (HCF) 8 gS] rks
fuEu esa ls dkSu&lk mudk y?kqÙke lekioR;Z (LCM) dHkh
ugha gks ldrk gS\

SSC CGL 07/12/2022 (Shift- 04)

(a) 56 (b) 48

(c) 42 (d) 40

58. The HCF of three numbers 105, 335 and 465
will be:

rhu la[;kvksa 105] 335 vkSj 465 dk egÙke lekiorZd
(HCF) Kkr djsaA

SSC CGL 08/12/2022 (Shift- 01)

(a) 11 (b) 5

(c) 7 (d) 3

59. The HCF of 222, 642 and 1062 is ____.

222] 642 vkSj 1062 dk egÙke lekiorZd (HCF) _____
gSA

SSC CGL 08/12/2022 (Shift- 02)

(a) 6 (b) 8

(c) 4 (d) 2

60. Find the HCF of 4.08 and 6.63.

4-08 vkSj 6-63 dk egÙke lekiorZd (HCF) Kkr djsaA
SSC CGL 08/12/2022 (Shift- 03)

(a) 0.50 (b) 0.52

(c) 0.51 (d) 0.53

61. If the HCF of xy3, x2y and x³y4 is xy, then their
LCM is _____.

;fn xy3, x²y vkSj x³y4 dk egÙke lekiorZd (HCF),

xy gS rks mudk y?kqÙke lekioR;Z (LCM) _____ gSA
SSC CGL 08/12/2022 (Shift- 04)

(a) x3y4 (b) x3y3

(c) x4y3 (d) x4y4

62. The LCM of 96, 136 and 504 is:

96] 136 vkSj 504 dk y?kqÙke lekiorZd (LCM) D;k
gS\

SSC CGL 09/12/2022 (Shift- 01)

(a) 34272 (b) 36548

(c) 25872 (d) 28564

63. The LCM of 144, 360 and 450 is:

144] 360 vkSj 450 dk y?kqÙke lekioR;Z (LCM) Kkr
dhft,A

SSC CGL 09/12/2022 (Shift- 02)

(a) 4800 (b) 3600

(c) 7200 (d) 2400
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64. The HCF of 
1 3 5

, ,
2 4 6

 and 
7

8
 is.

1 3 5
, ,

2 4 6
 vkSj 

7

8
 dk egÙke lekiorZd (HCF) Kkr

djsaA

SSC CGL 09/12/2022 (Shift- 03)

(a)
105

2
(b)

1

24

(c)
7

24
(d)

1

48

65. The LCM of 
3 5

,
8 16

 and 
7

2
 is

3 5
,

8 16
 vkSj 

7

2
 dk y?kqÙke lekioR;Z (LCM) D;k gS\

SSC CGL 09/12/2022 (Shift- 04)

(a) 101½ (b) 52½

(c) 28½ (d) 25¼

66. The HCF of two numbers is 21 and their LCM

is 840. If one of the numbers is 49, then the

other number is:

nks la[;kvksa dk egÙke lekiorZd (HCF) 21 gS vkSj

mudk y?kqÙke lekioR;Z (LCM) 840 gS ;fn buesa ls

,d la[;k 49 gS] rks nwljh la[;k D;k gksxh\

SSC CGL 12/12/2022 (Shift- 01)

(a) 650 (b) 540

(c) 810 (d) 360

67. The LCM of 1.2 and 2.7 is:

1-2 vkSj 2-7 dk y?kqÙke lekioR;Z (LCM) Kkr djsaA

SSC CGL 12/12/2022 (Shift- 02)

(a) 5.4 (b) 10.8

(c) 1.08 (d) 32.4

68. The HCF of three numbers 98, 175 and 210

will be:

rhu la[;kvksa 98] 175 vkSj 210 dk egÙke lekiorZd

(HCF) Kkr djsaA

SSC CGL 12/12/2022 (Shift- 03)

(a) 6 (b) 3

(c) 5 (d) 7

69. Find the HCF of 60, 148 and 382.

60] 148 vkSj 382 dk egÙke lekiorZd (HCF) Kkr
dhft,A

SSC CGL 12/12/2022 (Shift- 04)

(a) 2 (b) 6

(c) 4 (d) 24

70. Determine the LCM of two numbers if their

HCF is 9 and their ratio is 14 : 19.

nks la[;kvksa dk y?kqÙke lekioR;Z (LCM) Kkr dhft,]
;fn mudk egÙke lekiorZd (HCF) 9 gS vkSj mudk
vuqikr 14 % 19 gSA

SSC CGL 13/12/2022 (Shift- 01)

(a) 2394 (b) 3990

(c) 1596 (d) 3192

71. The HCF of two numbers is 17 and the other

two factors of their LCM are 11 and 19. The

smaller of the two numbers is:

nks la[;kvksa dk HCF 17 gS vkSj muds LCM ds vU;
nks dkjd 11 vkSj 19 gSaA nks la[;kvksa esa ls NksVk gS%

SSC CGL 13/12/2022 (Shift- 02)

(a) 209 (b) 187

(c) 323 (d) 306

72. The HCF of three numbers 72, 108 and 2010

is:

rhu la[;kvksa 72] 108 vkSj 2010 dk egÙke lekiorZd
(HCF) D;k gS\

SSC CGL 13/12/2022 (Shift- 03)

(a) 18 (b) 6

(c) 12 (d) 5

73. The ratio of two numbers is 6 : 7 and their

HCF is 3. Their LCM is _____.

nks la[;kvksa dk vuqikr 6%7 gS vkSj mudk egÙke lekiorZd
(HCF), 3 gSA mudk y?kqÙke lekioR;Z (LCM)____ gSA

SSC CGL 13/12/2022 (Shift- 04)

(a) 124 (b) 128

(c) 122 (d) 126

74. The product of the two numbers is 1500 and

their HCF is 10. The number of such possible

pairs is/are:

nks la[;kvksa dk xq.kuiQy 1500 gS vkSj mudk e-l-i
(HCF)10 gSA ,sls laHkkfor ;qXeks a dh la[;k_____gS@gSaA

SSC CGL TIER - II 02/03/2023

(a) 1 (b) 3

(c) 4 (d) 2
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75. The LCM of x² – 8x + 15 and x² – 5x + 6 is:

SSC CGL TIER- II 03/03/2023

(a) (x – 2) (x – 3) (x – 5)

(b) (x – 6)² (x + 1) (x – 3)

(c) (x – 6) (x + 1) (x – 3)

(d) (x + 6) (x + 1) (x – 3)

76. If the greatest common factor (HCF) of x and

y is 15, then the HCF of 36x² – 81y² and 81x²

– 9y² is divisible by _________?

;fn x vkSj y dk egÙke lekiorZd (HCF) 15 gS] rks
36x² – 81y² vkSj 81x² – 9y² dk HCF _________ ls
foHkkT; gksxk\

SSC CGL TIER- II 06/03/2023

(a) 135 (b) 120

(c) 90 (d) 180

1.(a) 2.(c) 3.(b) 4.(b) 5.(a) 6.(b) 7.(c) 8.(a) 9.(a) 10.(a)

11.(a) 12.(a) 13.(b) 14.(a) 15.(a) 16.(b) 17.(d) 18.(a) 19.(c) 20.(d)

21.(c) 22.(d) 23.(d) 24.(c) 25.(b) 26.(c) 27.(a) 28.(a) 29.(a) 30.(a)

31.(d) 32.(d) 33.(d) 34.(d) 35.(a) 36.(d) 37.(a) 38.(a) 39.(d) 40.(b)

41.(c) 42.(b) 43.(c) 44.(a) 45.(b) 46.(a) 47.(d) 48.(c) 49.(c) 50.(b)

51.(b) 52.(d) 53.(b) 54.(d) 55.(a) 56.(a) 57.(c) 58.(b) 59.(a) 60.(c)

61.(a) 62.(a) 63.(b) 64.(b) 65.(b) 66.(d) 67.(b) 68.(d) 69.(a) 70.(a)

71.(b) 72.(b) 73.(d) 74.(d) 75.(a) 76.(a)

ANSWER KEY



M
at

hs
 b
y

A
di

ty
a 

R
an

ja
n 

si
r

Join Telegram- Maths by  Aditya Ranjan

Aditya Ranjan (Excise Inspector) Selected gS Selection fnyk,axs   9

HCF and LCM

1. (a)

A B C

3x 4x 5x

LCM(A, B, C) = 60x = 60 × HCF

60x = 2400

x = 40 = HCF (A, B, C)

2. (c)

A + B = 55

We know, A × B = LCM × HCF

 A × B = 5 × 120 = 600

 
1

A
+ 

1

B
=

A B

AB



= 
55

600
= 

11

120

3. (b)

3.78 m = 378 cm = 2 × 3 × 3 × 3 × 7

5.25 m = 525 cm = 5 × 5 × 3 × 7

HCF = 21

 largest size of square tiles = 21 cm

4. (b)

A × B = 2028 = 13 × LCM

 a × b = 
2028

13 13
=12

where, a and b are prime

a b

1 12

3 4

 only 2 such possible pairs.

5. (a)

A + B = 100

A × B = 495 × 5

= 99 × 5 × 5

= 9 × 11 × 5 × 5

 A = 45, B = 55

 B – A = 55 – 45 = 10

6. (b)

HCF(1657 – 6, 2037 – 5)

 HCF(1651, 2032) = 127

 required no. is 127

7. (c)

G.C.D. (1.08, 0.36, 0.9)

1.08 = 
108

100

0.36 = 
36

100

0.9 = 
90

100

HCF = (108, 36, 90) = 18

 GCD = 
18

100
= 0.18

8. (a)

LCM(x, y) = 161

HCF(x, y) = 1

 x × y = 161 = 7 × 23

 x > y

x = 23, y = 7

 3y – x = 21 – 23 = –2

9. (a)

A + B = 528

A = 33a

B = 33b

 33(a + b) = 528

a + b = 16

a b

1 15

3 13

5 11

7 9

 4 such possible pairs.

10. (a)

A × B = HCF × LCM

   = 11 × 385

   = 11 × 11 × 35

   = 11 × 11 × 5 × 7

A = 55, B = 77

and 75 < 77 < 125

The number is 77

SOLUTION
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11. (a)

A – B = 14

A × B = LCM × HCF = 441 × 7

= 63 × 7 × 7

= 9 × 7 × 7 × 7

 A = 63, B = 49

12. (a)

H.C.F. = highest common factors

A = 4 × 27 × 3125

   = 22 × 33 × 55

B = 8 × 9 × 25 × 7

   = 23 × 32 × 52 × 7

C = 16 × 81 × 5 × 11 × 49

   = 24 × 34 × 5 × 72 × 11

 HCF = 22 × 32 × 5

   = 180

13. (b)

LCM(5, 6, 7, 8) = 840

 the number can be written in the form

= 840k + 3, which is divisible by 9.

If k = 2

= 840 × 2 + 3 = 1683, is divisible by 9.

Hence, 1683 is the required number.

14. (a)

HCF (1001, 910):-

910 = 2 × 5 × 7 × 13

1001 = 7 × 11 × 13

 HCF (1001, 910) = 91

 Maximum number of students to get same
number of pens and pencils is '91'

15. (d)

LCM (2, 4, 6, 8, 10, 12)

= 120

30 minute = 30 × 60 = 1800 second.

 they will ring together:-

1800

120
+ 1 = 15 + 1 = 16 times.

16. (b)

Length of room = 624 cm

Width of room = 432 cm.

Area = 624 × 432 cm2

Now, HCF(624, 432) = 48

 Least number of tiles = 
432 624

48 48




= 117

17. (d)

HCF (210, 55) = 5

210 × 5 + 55P = 5

11P = –209

P = –19

18. (a)

We know,

HCF 
a c

,
b d

 
  
 

= 
 
 

HCF a,c

LCM b,d

 
1 3 5 7 9

, , , ,
2 4 6 8 10

 
  
 

=
1

120

19. (c)

1728 = 33 × 26

LCM = 5184 = 3 × 1728

 Other numbers will have one of the factors
as 34 = 81

So, in total there are 7 possibilities for the
other number.

i.e., 81 × 2°, 81 × 21, 81 × 22, 81 × 23, 81 ×

24, 81 × 25, 81 × 26.

 k can have 7 possible values.

20. (d)

We know,

A × B = LCM × HCF

24 × B = 6 × 168

 B = 42

21. (c)

LCM
2 8 16 32

, , ,
3 9 27 81

 
  
 

 
 

LCM 2,8,16,32

HCF 3,9,27,81
  = 

32

3

22. (d)

LCM A = 35, 311, 3–11 = 35

LCM B = 314, 35, 311, 3–11 = 314

LCM C = 314 = 314

LCM (A, B, C) = 314

23. (d)

The minimum value of LCM of a given

numbers is different for different values or

numbers.

For e.g. (a) 4 and 7

LCM = 28 = 4 × 7

(b) 6 and 9

LCM (6, 9) = 18 < 54

 LCM  A × B
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24. (c)

Let the number be

10x + y – (10y + x) = 27

9x – 9y = 27

x – y = 3

also, x + y = 9

 x = 6, y = 3

 number is = 63

Hence, HCF (63, 36) = 9

25. (b)

LCM 
2 3 4

, ,
5 10 15

 
  
 

= 
 

 
LCM 2,3,4

HCF 5,10,15 =
12

5

26. (c)

Let, the nos. be A, B, C

A × B = 551

B × C = 1073

B C

B A




 =

C

A
 =

1073

551
 =

29 37

29 19




 =

37

19

 A = 19, B = 29, C = 37

 A + B + C = 29 + 19 + 37

= 85

'OR'

HCF (1073, 551) = 29

 C = 
1073

29
 = 37

A = 
551

29
= 19

B = 29

 A + B + C = 29 + 19 + 37 = 85

27. (a)

x + y = 1085

 35(a + b) = 1085

a + b = 31

where, a & b are co-prime

a b a b

1 30 10 21

2 29 11 20

3 28 12 19

4 27 13 18

5 26 14 17

6 25 15 16

7 24

8 23

9 22

 15 such pairs are possible.

28. (a)

Red:

3 times per minute  every 20 second

Green:

5 times per 2 minute  every 24 second

 LCM(20, 24) = 120 second  2 minute

 in 1 hour = 
60

2
 = 30 times

29. (b)

Consider, 1275 – 555 = 720

          1635 – 1275 = 360

 HCF(360, 720) = 360

30. (a)

HCF(4956, 3894) = 354 = wage per day

 total days = 
4956

354
= 14

Present days = 
3894

354
 = 11

 absent days = 14 – 11 = 3

31. (d)

HCF = (435, 493, 551) = 29

435 = 3 × 5 × 29

493 = 17 × 29

551 = 19 × 29

 number of cakes = 
435

29
 + 

493

29
 +

551

29

                        = 15 + 17 + 19

                        = 51

32. (d)

LCM = 24 × HCF

L + H = 400

 25H = 400

H = 16

L = 24 × 16

 A × B = 16 × 24 × 16

ATQ,

A = 6 × 7 + 6

A = 48 = 16 × 3

 B = 16 × 8 = 128

A + B = 48 + 128

            = 176

 1 + 7 + 6 = 14
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33. (d)

LCM 
4 5 9

, ,
7 14 35

 
  
 

= 
180

7

HCF 
4 5 9 1

, , =
7 15 35 70
 
 
 

Difference of HCF and LCM = 
180

7
– 

1

70

 
180 1 179.9

7 70 70
 

= 25.7

34. (d)

HCF(102, 119, 153, 204)

102 = 2 × 3 × 17

119 = 7 × 17

204 = 3 × 4 × 17

153 = 3 × 3 × 17

 HCF = 17

maximum number of pieces =

102 119 153 204

17 17 17 17
  

= 6 + 7 + 9 + 12

= 34

35. (a)

Time taken by them to complete 1 round:-

A = 
6

3
= 2 hours

B = 
6

3.5
 = 

12

7
 hours

C = 
6

4
 = 

3

2
 hours

D = 
6

4.5
 = 

4

3
 hours.

LCM 
2 12 3 4

, , ,
1 7 2 3

 
  
 

 = 12 hours

In 12 hours they will meet for the first time

and in 12 hours, B can cover 
12

12 /7
 = 7

rounds.

36. (d)

Plants in rows – 7, 8, 9, 12

LCM(7,8,9,12) = 504

A.T.Q.

504 × 1 + 1 = 505 not divisible by 11

504 × 2 + 1 = 1009 not divisible by 11

504 × 6 + 1 = 3025 divisible by 11

 The gardner had 3025 plants (minimum)

37. (a)

Let two numbers Hx & Hy

Hxy = 12 H

xy = 12     ...(i)

Hxy + H = 169

H(12+1) = 169

H = 13

H(x + y) = 104

x + y = 8   ...(ii)

x = 6, y = 2 (from (i) & (ii))

difference = 13(6 – 2)

           = 52

38. (a)

We observe that in each given case remainder
is '–1'.

LCM(5,6,7,8,9) = 2520

 Required number is 2520 – 1

= 2519

39. (d)

HCF (32, 216, 136, 88, 184, 120) = 8

 Total = 
32 216 136 88 184 120

8 8 8 8 8 8
    

= 4 + 27 + 17 + 11 + 23 + 15 = 97

40. (b)

935 = 

5 × 11 × 17

P Q

 P > Q

digit sum 17 = 1 + 7 = 8

41. (c)

LCM = HCF × a

But, 90 is not a multiple of 12

42. (b)

N
1
 × N

2
 = HCF × LCM

384 = HCF × 48

384
HCF = = 8

48

HCF 8 1
 = =
LCM 48 6


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43. (c)

N
1
 × N

2
 = LCM × HCF

6 × 3 × 5 × 3 = LCM × 3

LCM = 90

44. (a)

N
1
 × N

2
 = LCM × HCF

5 × 4 × 4 × 4 = LCM × 4

 LCM = 80

45. (b)

HCF (1026, 2268, 2430)

1026 = 2 × 3 × 9 × 19 = 2 × 3³ × 19

2268 = 2² × 34 × 7

2430 = 2 × 35 × 5

 HCF = 2 × 3³ = 54

46. (a)

HCF (2040, 391)

2040 = 2³ × 3 × 5 × 17

391 = 17 × 23

HCF = 17

47. (d)

2 × 3 × 5 × H = 90

 H = 3

48. (c)

12 14 16
HCF ,  ,  

5 15 17

 
  
 

HCF (12,  14,  16) 2
= =

LCM (5,  15,  17) 255

49. (c)

36 = 2² × 3²

198 = 2 × 3² × 11

HCF = 2 × 3² = 18

50. (b)

N
1
 × N

2
 = LCM × HCF

 3x × 8x = 120 × x

 x = 5

N
1
 + N

2
 = 5(3 + 8) = 55

51. (b)

110 = 2 × 5 × 11

1980 = 110 × 18

 HCF = 110

52. (d)

N
1
 × N

2
 = LCM × HCF

171 × N
2
 = 4104 × 9

2

4104 9
N =

171



     = 216

53. (b)

HCF = Highest common factor

Which perfectly divides all given mumbers

54. (d)

N
1
 + N

2
 = 18

N
1
 × N

2
 = 54 × 3

            = 162

1 2

1 2 1 2

N N1 1
=

N N N N




        
18

=
162

        
1

=
9

55. (a)

8x³ + 80x² + 200x = 8x(x² + 10x + 25)

        = 8x (x + 5) (x + 5)

 4x4 + 16x³ – 20x² = 4x² (x² + 4x – 5)

        = 4x² (x – 1) (x + 5)

 LCM = 8x² (x + 5)² (x – 1)

56. (a)

1866 3732
LCM ,  

10 10

 
  
 

LCM (1866,3732) 3732
= =

HCF (10, 10) 10

   = 373.2

57. (c)

LCM = HCF × a

= 8a

42 is not a multiple of 8.

58. (b)

HCF (105, 335, 465)

105 = 3 × 5 × 7

335 = 5 × 67

465 = 3 × 5 × 31

 HCF = 5
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HCF and LCM

59. (a)

HCF (222, 642, 1062)

222 = 2 × 3 × 37
642 = 2 × 3 × 107
1062 = 2 × 3² × 59

 HCF = 2 × 3 = 6
60. (c)

408 663
HCF ,  

100 100

 
  
 

HCF (408, 663) 3 17
 =
LCM (100, 100) 100




 408 = 2³ × 3 × 17
 663 = 3 × 17 × 13

  HCF = 0.51
61. (a)

HCF (xy³, x²y, x³y4) = xy
LCM = x³y4

62. (a)
LCM (96, 136, 504)
 96 = 25 × 3

136 = 2³ × 17
504 = 2³ × 3² × 7

 LCM = 25 × 3² × 7 × 17
        = 34272

63. (b)
LCM (144, 360, 450)

144 = 24 × 3²
360 = 2³ × 3² × 5
450 = 2 × 3² × 5²
LCM = 24 × 3² × 5²
        = 3600

64. (b)

1 3 5 7
HCF ,  ,  ,  

2 4 6 8

 
  
 

HCF (1, 3, 5, 7)
=

LCM (2, 4, 6, 8)  
1

=
24

65. (b)

3 5 7
LCM ,  ,  

8 16 2

 
  
 

 
105 1

= = 52
2 2

66. (d)
N

1
 × N

2
 = LCM × HCF

49 × N
2
 = 840 × 21

N
2
 = 360

67. (b)

LCM (1.2, 2.7) 
12 27

= LCM ,  
10 10

 
  
 

LCM (12,  27) 108
= = = 10.8

HCF (10, 10) 10

68. (d)
HCF (98, 175, 210)
98 = 2 × 7²
175 = 5² × 7
210 = 2 × 3 × 5 × 7
HCF = 7

69. (a) HCF (60, 148, 382)
60 = 2² × 3 × 5
148 = 2² × 37
382 = 2 × 191
HCF = 2

70. (a) N
1
 × N

2
 = LCM × HCF

14 × 9 × 19 × 9 = LCM × 9
LCM = 2394

71. (b)
Given
H = 17 & x = 11, y = 19
Smaller number = 17 × 11 = 187

72. (b) 72 = 2³ × 3²
108 = 2² × 3³
2010 = 2 × 3 × 5 × 67
HCF = 2 × 3 = 6

73. (d) N
1 
× N

2
 = HCF × LCM

6 × 3 × 7 × 3 = 3 × LCM
 LCM = 126

74. (d)
N

1
 × N

2
 = 1500 = HCF × LCM

 LCM = 150
10a × 10b = 1500
 ab = 15
3 × 5 = 15
1 × 15 = 15
 2 possible pairs.

75. (a)
x² – 8x + 15 = 0
x² – 5x – 3x + 15 = 0
x (x – 5) – 3 (x – 5) = 0
(x – 3) (x – 5) = 0 ..........(1)
Also x² – 5x + 6 = 0
x² – 2x – 3x + 6 = 0
x(x – 2) – 3(x – 2) = 0
(x – 3)(x – 2) = 0                                 ..........(2)
 LCM = (x – 3) (x – 2) (x – 5)

76. (a)
HCF (x, y) = 15
 x = 15a, y = 15b
36x2 – 81y2 = (6x)2 – (9y)2

= (6 × 15a)2 – (9 × 15b)2

= (45)2 [4a2 – 9b2]
81x² – 9y2 = (9x)2 – (3y)2

= (9 × 15a)2 – (3 × 15b)2

= (45)2 [9a2 – b2]
HCF = (45)2, which is divisible by 135
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